
Chapter 1
Section 1.1

Warm-up Problem A. Decide whether each of the following is an expression or an equation. How did you

decide?

(a) 2(3t� 8)� 7t (b) �3x+ 2� 4� x = 4 + 2x� 9

Warm-up Problem B. Decide whether the given value for the variable is a solution for the equation. How did

you decide?

(a) 3d� 5 = 5(d� 3) ; d = �1 (b) 3|x+ 4| = 5x; x = 6

Problem 1. Which equations are linear equations in x?

(a) x2 + 3x = 5 (b) 3x� 2 + x = 0 (c) 2(3x� 8) = 7 (d) 3x+
8
x = �22

Problem 2. Solve each equation. Decide whether there is one solution, infinitely many solutions, or no solutions.

If there is one solution, check the solution.

(a) 11x� 14x� 7 + 8 = 4x+ 5� 2

(b) �6x+ 2x� 11 = �2(2x� 3) + 4

(c) 4(k � 9) = 4(k + 3)� 48

(d) �9y � (5 + y) = �(3y � 1)� 6
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(i) 0.02(x+ 4) = 0.03x� 0.02

(j) |2x| = 4

(k) |2x� 3| = 4

(l) |2x� 3| = 4 + x

2

8M -4 - qm
= 10

2×+8=3×-2

- M - 4=10 11=10

m= -14 lsdh

-15in
×=±2 Mattoon

4- 3=Zn its ^
.

@ 9 sedann=tz

t.in#Iii:xIItiIICf.
10-24×-18×16611=42×-18+10 2×-3=-4 .

×→
X=¥

10+24/1=42×-8 2×-3=4 # → X=7

-24¥

X=l lsdh



Additional Problems

EP 1. Solve each equation. Decide whether there is one solution, infinitely many solutions, or no solutions. If

there is one solution, check the solution.

(a) 4(2x+ 7) = 2x+ 25 + 3(2x+ 1)

(b)
3

11
x = �2

(c) 2 (�(t� 1) + 4) = 5 + (�(6t� 7) + 9t)
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(f) 0.05x+ 0.08 + 0.06x = 0.07x+ 0.68

(g) 6(3� 4x) + 10 = �15x+ 3(2� 3x)
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